Answer Key

Practice C 13. —10<sx<7 14. x< —120rx = —3
1. R 2. [y 15. —5<x<4 16. x<3orx>6
5
ARECRE: EE 17. ~<xs<? 18 x< —Jorx=1
|
| 2 X —_ — /
iy \\ /I 19. x < 3o0rx >3 20.xs¥or
1|
1/ \ / -5+
hd xz%gg 21. No solution
. . -V +
3 Q\ y 4 |y? 22.X<1 6130rx>1 613
| e \
\\ /’ - 2 ;' 23. —2\5@ < X< 2::)6 24. All real numbers
/ NIE X
\/ i 25. —3,5 26. [ |\ v
\ /
5 A yf 6 v \/ A
A 1
1\
6 [ 1) [ X
\ A/ L
i A 1o / ‘
i MBI 27y = =2 — 2X + 4
! : 28. y=x2+3x+ 1 29. %fsquareunits
30. %squareunits
7 y 8. R
1 X
1\ /Y
fl 1 X AR
| \
| \ y ‘
\ ! \
\ } [
9 p 10. A y
- \ |
X I~
ol L\
\
\ \
I / \
[ [Tz T\ >
2! byl
11. 7Y 12. \ y A
\ 'I \‘ '/
\ _ W ,,’
\ 1 | X \ K
\ II \ \ /
7 =~
, /
/ \ NI ERE




